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(A)

cde2
lin

cde2
1fin

cde2
ldin

cde2
lin

cde2
1fin

cde2
ldin

cde2
ldin

10 0 30 40 30

FEP RN BRI 1D RN

(1) men gt¥g klige rLEltcfcgvpstALr
PBRPPPAARP PRRRPRP PRRRBABP Goaae

100

[} 70 80 90
(P 0 R R TR N R R YR R
(51)EislLk&Ln------ hpAIVk tenk fLhgdLkk¥Fmda-
oo PBRRRRR BRRRRH pPacacaca

110 120 130 140 130

-G - A.L.PIL V.PIYIL VIG VIP C-l I -LIP.L L I-Gl
(94) --Sal-tglplpLlk8YLfiglLlqGLafChsh#VI HRdLkPqgH nteGa
cocoooocoocaaaoaaaas PR 333BPP

190 00

160 1 19
e frorBlrc - -ER: Bl B oo Bl BEE Bl

(141) adFglA  cfgvpvEitythdvVtlwirAPEiLLge-k§¥staVDIWSL
BRP 333 pBPp 333 Cooa [T AT A AT A
210 ) 230 240 250

GC1 PA.I-PLI’PG-I-I Pll PlVLGIP-VIPGVlLL-Y-
(190)GCIFAEMVirra LFpGasc idQL{E IFrtLgTPdeévvWpgVismpdykps
333

[eRededcqededeeded [efededededcqedededeqcden

260 2m 2%, 200 300
| P_L.V v PIG-A I IL LIA.L v YIP A.! IA.A L-‘I L.P
(240)FpkwargdfskvVppLdédGESLLsgMLhydpnkRisAkaAlahpfFqdv

cooc [A AT A AT A A [XXeAd 333

(290) tkpvPhLrl

Psi (degrees)

-1354

~b

~b

Phi (degrees)




